(DBCO 14)

B.Com. DEGREE EXAMINATION, MAY - 2015
(Examination at the end of First Year)
Part - I : COMMERCE

Paper - 1 : Quantitative Techniques - I

Time : 3 Hours Maximum Marks : 80

Section - A

Answer any Four of the following

& (808 3°36° 3D Trevid (340D SIrFEACed Fratvin

1)  Types of Averages.
aPS8EH BEswen (FKewe BESve).

2)  Probable error.
Breed B8 (Sogrig $dy550)

3)  Arithmatic - Progression.
85638 - DRSS (2208 — HETKIIB0)

4)  Matrix.
5)  Set.
5.

6) Correlation - Co - efficient.

18SSS - §° - DA 05 (FTHow0es KHENEID)

7)  Skewness.
R 3R (30838).

8) Ideal average.
2&aHS alrSBE (esess) rew).



9)

10)

11)

12)

13)

Section - B

Answer any Two of the following

e (808 T736° O Bok> (5305 SIPEERIVED FPAHOBD

Explain the characteristics of Measures of Central Tendency.

otd 6062)‘3 BooE), S0 eEETo ISBoYHI.

Find out Arithmatic mean from the following data?

Marks 0-10 10-20 20-30 30-40 40-50 50-60

No. of Students 5 7 15 8 3 2

53 1808 &P 08 ©85BE DS KHBoWIW.

S8 e0 0-10 10-20 20-30 30-40 40-50 50-60

Z)GS"édge) Do) 5 7 15 8 3 2

If the AAM & G.M of two numbers are 13 & 12 respectively. Find the numbers.
8o K)oaJéo 2.00. D805 2.00. ¥R SBOI 13 HBosw 12 e ézéolaﬁo),cﬁ), eaeg K)oaJéoéo rO8owod0.

Explain Regression.
BIRS® 809 S5BoH00.

Section — C

Answer any Three of the following

& (808 3736° DIV S0 (55,0 SEPEEBSDeD [Fatos0

IfA={1,2,3}, B=1{2,3,4},C={4,5, 6} then
Find i) ACB,BCA.

i) AEB,BEA.

iiiy (AEB)EC,AE(BEC).

iv) A- B,B- A.

vy (A¢B)¢C,AC(BGC).

viy AE(B¢C),(AEB)C(AEC).



A={1,2,3}, B=1{2,3,4},C= {4,5, 6} @003y,
&6 (808 To63D EHORTH0B0:

iy ACB,BCA.

i) AEB,BEA.

iiiy (AEB)EC,AE(BEC).

iv) A- B,B- A.

vy (A¢B)¢C,AC(BGC).

viy AE(BCC),(AEB)C(AEC).

14) Find the median from the following distribution of 100 individuals according to their age.

Age 20-29 30-39 40-49 50-59  60-69 70-79
Frequency| 15 16 38 15 9 7

100 508 Sge Sabrnesn 2 8 8ot aswds Dges 2008 DEADSDH SRS,

SaD0y 20-29 30-39 40-49 50-59 60-69 70-79
Do 7 P30 15 16 38 15 9 7

15) Using matrix inversion method. Solve the linear equations.
2x—y+6=0
6x+y+8=0
3o 0% DS*S 5g®ammaoa, &a 80t 'aé‘sa)&é BT BAEBETOR oSS0,
2x—y+6=0
6x+y+8=0

16) Describe the statistical systems followed in India.

ge858506° @XPB0WIE KETP0E DFPHHNOR DSIBoWHN.

17) Define Geometric & Arithmatic means and discuss their use in statistics.
Barrie3sisn B woSHEBEM AEIRVOD DO B Herosined® T8 &S5ATHIDORD
58y0)50.

18) Explain Venn Diagram, Demorgan laws.

38 DBS030080, & Wroed SereHd J38oRR0.
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